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We require that it be similar to fortified cities

OVERVIEW

The X773 explained that even if we maintain 17 *YpIpnd >72v, it is still understood
why if 1P0%0n 73p X 0°72v2 U1, because the ¥pap that can create 23X 1°3 must be
similar to the mMmMx» o°v, from which we derive 23X ]’Jp.l However 0°72Y, since
they move, are not similar to the n17x¥» 07y, therefore they cannot be considered
as yp7p for 2aX 7°1p. The question arises if 2°72Y are not considered as YpIp to create
a 23X 1P, then they should allowed to be acquired through 23x 7°1p. However we
learnt in this Xn»02 that 2°72v 7P X2 yppa P! Our Mdoin resolves this
difficulty.

mMooIn anticipates and resolves an apparent difficulty:
= 073y NIP RY YPIPa PO

And when he made a 77117 in the ¥P9p he is nevertheless not 7317 the 2972y; when
seemingly he should be 71 the 0°72y since 0°72Y are not considered Y277 in regards to creating a
23X 11p. They should (at least) be 2382 71p1.

mooIn responds; the reason why ¥pap 73 X5 0°72v2a poIn is -

:22N3 219373 YD PRT DIVN
because ypap cannot be acquired through 233X 1°1p. It is true that 72y cannot create a
23X 1P because they are not similar to M%7 2>7y; but nevertheless they are considered like ypp
and therefore cannot be acquired through 23X 13, since only P2v%Yn can be 731 through 23X PIp
but not :JPWP.S

SUMMARY
0°72¥ cannot be 71121 through 23X 117 (according to the 7"» that "n7 *ypapnd v72v), for
¥ cannot be acquired through 23X 11p.

THINKING IT OVER
How de we know that ypap is not 773p1 through 23X 7°1p?

' See previous XX 1"7 NDOMN.

21t is evident from this Mmoo that the ruling of YXw concerning "2 MTW WY 12 797, is not on account of X (but
rather it is a ruling in 7P MOY).

? See “Thinking it over’.
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